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The first question: Complete the following tables:

Singular Plural
Taxon '
Criterion
Datum
Medium
Phenomenon

Most useful Table Figure
When working with
When concentrating on
When accurate actual
values are

The second question: Choose the correct word from those between brackets:

1) Women reported ... adverse effects than men. (fewer — less) ..... fluid formed in
the pleural space of treated animals. (fewer — less)

2) The experienced colonoscopist was able to reach much ... than the trainee.
(farther — further)

3) The trainee made ... progress in the succeeding weeks. (farther — further)

4) Eighty-five........... of the patients were men. (pereent — percentage)
5) A large........... of patients developed complications. (percent — percentage)
6) The .......... that the simplest explanation for a phenomenon is the best one is

called Occam’s razor. (principle — principal)

7) B. Runners who develop overuse running-related injuries have lower intakes of
several key nutrients compared (with - to) non-injured runners.

8) you've done this before, please give me your (advice - advise)

9) Different types of antibiotics ... different types of bacteria in different ways.
(Affect— Effect)

10) The close friendship that existed (between - among) them was quickly
dissolved.

11) The (percent — percentage) of response in the population was 34%

12) A (few — less) data points belong to cluster X.

13) Weneed to .......... this equipment against theft. (ensure — insure)

14) Eighty-five........... of the patients were men. (percent — percentage)
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The third question: Replace the phrasal verbs in the sentences (Bold, ltalicized) with
a more appropriate verb from the list below; keeping the same tense:
(fluctuate — investigate - eliminate — raise — reduce — propose — intervene — establish)

1. Researchers have been looking into the problem for 15 years.

2. This issue was brought up during the seminar.

3. It is assumed that the management knows what is happening and will therefore
step in if there is a problem.

4. Schools cannot altogether ger rid of the problem of truancy.,

5. The number of staff has been cut down recently.

6. It was very difficult to find out exactly what happened.

7. House prices have a tendency to go up and down.

8. A potential solution was put forward two years ago.

The fourth question: Suggest at least three connection/transition words for:

a) Addition of further information: e ) e

b) Declaration of a cause and effect relationship: ............ s, s e
c) Clarification of ideas............. e

d) Contrasting: ............ ) e ) e

The fifth question: Suggest simpler words to these complex ones:

1) Ambulate
2) capability
3) commence
4) customarily
5) dilatation
6) elucidate
7) expeditious
8) facilitate

9) prior to

10) proficiency

With my best wishes
Professor Doctor: Aml E.A. El-Saidy
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